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A 3,854 3,120 734 392 929 2,533
SR 24F 3,621 2,882 739 257 879 1,746
SERL T4 3,404 2,584 820 236 701 1,647
SERL224F 1,493 582 911 161 137 284
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SR 124F 3,621 7| 741 683 1,271] 489] 217 96 37 66 14
R4 2,584 - 12| 596 1,071] 447] 195] 139 74 19 1
SR 224F 582 23 78| 166] 180 67 21 20 11 16
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EE 306,346 254,470 25,747 26,129
SR 24F 277,556 238,429 20,060 19,067
SR T4 261,280 229,252 16,627 15,401
SERL224F 236,051 219,203 6,410 10,438
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ECHEET 36 1,910 1 X 2 X 5 X - - 11 X
WERT 4] 1,033 X - - 4 515 - - 5 X
A H BT 291 2,043 - - 1 X 1 X 2 X 21 630
= AHT 541 2575 - - - - 2 X 2 X 15| 250
EAET 11 769 5 X - - 3 126 1 X 11| 455
EVIE 13| 1,197 3 X - - 3 231 3| 108 14| 304
7E)II S| 58] 2071 - -1 - - 2 x| 48] 2,833 21 X
LI T 701 3,096 3 X 5 X 18 x| 11[ 1,000 40 603
Jt 5 BT 17 3726] 13| 4,469 1 X 9] 1,505 - - 441 1,051
5 292| 18,420 27| 6,672 9 22 47 x| 67| 4,053] 182] 4,895
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EHERT 4 1 4 - 1 - 1
AT - - - - - - -
EED] 1 - 3 = = - -
= AHT 7 1 1 - - - 1
R AHT 2 7 3 - 1 - -
EVIER: ) 3 2 6 1 5 1 1
I 1 : i : - -
LIPS ET 6 1 3 2 3 - 1
Jt 5 BT 35 10 1 3 1 8 1
it 73 18 22 6 11 9 5
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REE | - - T x | - - - - - -
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Ham | - - 2 x | - - - - - -
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e L] 2 25 984 - - - - - -
FBH | - - 5[ 215 - n = - 1
FISH | - - s 402 - - - = = =
1L BT 3 32 25 616 - - 1 X - -
Jb ARy 2 X 30 963 - - - - - -
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10,465 62 34 5 101 61.39] 6,225 | 3,190 103 | 846 | 10,364 || 60.06
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